
 

 

REASONING QUIZ 

Verbal Reasoning Classification MCQ Questions 

Q1 : Four numbers have been given out of which three are alike in some 

manner, while one is different. Choose the odd one. 
(A) 91 

(B) 73 

(C) 109 

(D) 61 

Q2 : Select the option that belongs to the category of words given below. 

Cinema, Actor, Director 

(A) Book 

(B) Disease 

(C) Principal 

(D) Theater 

Q3 : Four words have been given out of which three are alike in some 

manner, while one is different .Choose the odd one. 

(A) Cut 

(B) knife 

(C) Scalpel 

(D) Chisel 

Q4 : Find the odd one. 

(A) Ginger 

(B) Garlic 

(C) Chili 



 

 

(D) Potato 

Q5 : Four number have been given out of which three are alike in some 

manner, while is different. Choose the odd one. 

(A) 91 

(B) 196 

(C) 169 

(D) 126 

Q6 : Find the odd word in the following options. 

(A) 4913 

(B) 2910 

(C) 1331 

(D) 6859 

Q7 : Four words have been given out of which three are alike in some 

manner, while one is different. Choose the odd one. 

(A) Money 

(B) Lira 

(C) Rial 

(D) Dollar 

Q8 : Find the odd word in the following options. 

(A) DHJ 

(B) MQS 

(C) JHN 

(D) QUW 

Q9 : Four pairs of letter-cluster have been given out of which three are 

alike in some manner, while one is different. Choose the odd one. 

(A) NVH-KUK 



 

 

(B) REA-ODD 

(C) CWX-AVZ 

(D) TXB-QWE 

Q10 : Find the odd word in the following options. 

(A) Cow 

(B) Goat 

(C) Dog 

(D) Ox 

Q11 : 'Wet' is related to 'torrential rain' in the same way as 'prick' is 

related to. 

(A) wound 

(B) pin 

(C) stabbed 

(D) scratch 

Q12 : Choose the option which is different from the three options02. 

(A) 28-14 

(B) 32-17 

(C) 40-25 

(D) 45-30 

Q13 : Four letter-cluster have been given out of which three are alike in 

some manner, while one is different. Choose the odd one. 

(A) TVXZ 

(B) IKMO 

(C) CEGI 

(D) OQRT 

Q14 : Choose the option which is different from the three options. 



 

 

(A) Lizard 

(B) Penguin 

(C) Snake 

(D) Crocodile 

Q15 : Four pairs of number have been given, out of which three are alike 

in some manner, while one is different. Choose out the odd one. 

(A) 25 : 650 

(B) 14 : 210 

(C) 7 : 50 

(D) 21 : 462 

Q16 : Choose the option which is different from the three options. 

(A) UWWX 

(B) RSST 

(C) ABBC 

(D) XYYZ 

Q17 : Four pairs of numbers have been given out of which three are alike 

in some manner, while one is different. Choose out the odd one. 

(A) 236 : 325 : 263 

(B) 189 : 198 : 819 

(C) 761 : 617 : 176 

(D) 416 : 641 : 461 

Q18 : Pond is related to Water in the same way as Mountain is related to: 

(A) Birds 

(B) Rocks 

(C) Animals 

(D) Climb 



 

 

Q19 : Butter is related to milk in the same way as papers are related to 

_______. 

(A) write 

(B) pen 

(C) pulp 

(D) rubber 

Q20 : Identify the organization that does not belong to the given group. 

(A) IIM-Ahmedabad 

(B) Reserve Bank of India, Mumbai 

(C) NIT Warangal 

(D) IISC Bangalore 

ANSWER 

1.   A 

2.   D 

3.   A 

4.   C 

5.   C 

6.   B 

7.   A 

8.   C 

9.   C 

10. C 

11. A 

12. A 



 

 

13. D 

14. B 

15. C 

16. A 

17. A 

18. B 

19. C 

20. B 


